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2. BAR GRAPH

Directions 1-5: The following bar chart shows the sales of a company XYZ (in Rs.
Crore). Study the chart and answer the following questions.
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Total sales in 27d and 3rd years together is :
A AT AR A H FA HeABR e @ g8
(a) Rs. 2688 crores (b) Rs. 2888 crores
(c) Rs. 2788 crores (d) Rs. 2488 crores
The 2nd highest sale is in the year:
o aipaw R fre ¥ ge?
(a)10()9 ()8 (d) 7
The 2nd ]Jeast sale is in the year ?
ot =W R e ¥ g%
(@)2()3(()6 (d)4
The mean of the highest and the lowest sale
(in Rs. Crore) is
Jffepad T <gAad A &1 9reg 9an (@Re W)
(a) 4922.5 (b) 4827 (c) 4365 (d) 4922
The sale in the year 4 is less than the sale in
the year 8 by
A a9 @1 T2 @ med A H @ TS A ¥ fan
I BH B
(a) Rs. 3608 crores (b) Rs. 3504 crores
(c) Rs. 3127 crores (d) Rs. 3427 crores

Directions B-10: The following is a horizontal bar diagram showing the accidents in
which two wheelers are invalved with other objects.Study the diagram and answer
the question.

Two-wheelers [  EEEEREEN]
Cars [T1110
Buses [11
Tanker lorry [TTTITT1]
Pedestrians [
Bicycles  [LITTTTITI]
Stationary [I1111
Vehicles [J Represents 20
difference in percentage between the

accidents involving two wheelers and other objects
is respectively.

10.

<1 ufedr aredl ¢ drgdl g1 8 drell gEeAIsl & drd
e uforerd &7 ok '

(a) 77% more (b) 77% less (c) 54% more (d) 54% less

60% of the accidents are involved due to

§ gecTl BT 60 UfR 7 argi ¥ BT @

(a) cars, buses, tanker lorry and pedestrians

(b) cars, tanker lorry, bicycles and stationary vehicles

(c) two wheelers, cars, buses and stationary vehicles

(d) two wheelers, cars, buses and tanker lorry

If the data of the bar diagram is represented by a
pie chart, and the angle of a sector of he pie chart
is 36° then this sector represents the accidents
involving

Ife oy T IR UTH BT IS dIe & gRT SATAT 9V 3R
g d1¢ R 9971 ATl b DIV ze0e B T gAY I8 DI
A A B FHAT &

(a) Pedestrians (b) bicycles

(c) buses (d) stationary vehicles

The percentage of accidents in which pedestrians
and cyclists are involved is

Ued dem Asfbel W BN drell gHedsl &1 iR
fope ®

(a) 24% (b) 6%

(c) 60% (d) 20.4%

The percentage by which the accidents involving
buses is less than the accidents involving tanker
lorry is

a9 gRT B drell gHeAmll R §RT &M dTell geemwsil
SRESRERIRNCIC R

(a) 6% (b) 4%

(c) 40% (d) 28%

Directions 11-12 : The following bar diagram depicts figures for some agricultural
imports from January May, 2008, Answer (as closely as possible) the questions
using the date provided here.
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Model Practice Set -2

11. What is the average cost of potato import in

February and March ?
BRI TAT A AE H AT ATl B AT B

gard

(a) 3,960 (b) 5,960

(c) Rs. 1,280 (d) Rs. 4,440
12. What was the total csot (in Rs.) of wheat

import in March

AT W1 H ST g, BT Bl DEd g

(a) 3,212 (b) Rs. 5,616

(c) 7,042 (d) 2,224
Directions (13-17): The bar graph given below shows the foreign exchange reserves
of a country (in million US $) from 2001-02 to 2008-09. Answer the questions based
on this graph.
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13 The foreign exchange reserves in 2007-08 was
how many times that in 2004-05?

el ga1 9¥eR 2004-05 ¥ =T oM oAr?

(A) 0.7 (B)1.2
(C)14 (D) 1.5

14. What was the percentage increase in the
foreign exchange reserves in 2007-08 over
2004-05?

200708 H facefy qal WSR 2004.05 I fopar ufererg del g7
(A) 100% (B) 150%
(C) 200% (D) 620%

15. For which year, the percent increase of
foreign exchange reserves over the previous-
year, is the highest?
fpe av 4, faceh ga1 weR fiod av & oo # &
¥ # yfcrera gfg wad SATeT g8l 7
(A) 2002-03 (B) 2003-04 (C) 2004-05 (D) 2006-07

16. The foreign exchange reserves in 2006-07 were
approximately what percent of the average
foreign exchange reserves given over the
period under review?

2006.07&%@#@?%@3’%@@[@@“
fora uferera 272
(A) 95% (B) 110% (C) 115% (D) 125%

17. The ratio of the number of years, in which the
foreign exchange reserves are above the
average reserves, to those in which the
reserves are below the average reserves, is :
o7 anf # faeeh ga1 ¥R ofd WeR | W&l § I
o anf # fac=ll ga1 YweR o WeR 4 &4 B, S
dr9 BT AU F T 8§ ?
(A)2:6(B)3:4(C)3:5(D)4:4

2007.08 ﬁ

Directions (18-22): Study the given graph carefully to answer the questions that
follow: Number of Peope (in thousand) using 3 different mobile services from 2004
to 2009.

e frfaRad arferar @I ea9gde 9¢ @ fay v geAr
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18. What is the average number of people using
mobile serv1ce Y for all the years together

I T B HATH vev RAAR AT BT SUANT B

qrell ®1 AT AT /AT B 2

2004 2003

2 1

(a) 16 () 14444~
2 1
(c) 16666 (d) 14

19. The total number of people using all the three
mobile services in the year 2007 is what
percent of the total number of people using all
the three mobile services in the year 2008 ?
(rounded off to two digits after decimal)

ﬁzomﬁﬁ WSﬁWWWmﬁ@
ST, Ay 2008 H SRR HATS BT IUANT HR+ ATl HA
A & fha ufderd € ? @I & < 3fdl dd H9

A BY)
(A) 89.72% (B) 93.46%
(C) 88.18% (D) 91.67%

20. Number of people using mobile service X in
the year 2006 forms approximately what
percent of the total number of people using all
the three mobile services in that year?

Y 2006 H REAR AT ‘X' BT SYANT HA dTel AN DI
He, U ¥ il REAR WAt B SUART B T
FA AN B FEAT B fhd ufderd g ?

(A) 18% (B) 26%

(C)11% (D) 23%

21. What is the respective ratio of the number of
people using mobile service Z in the year 2005
to those using the same service in the year
2004 ?
¥ 2005 UG 99 2004 ¥ 'Z' TRAAR AT BT SUINT A
qrel AR BT AT a7 & 2
(A)8:7(B)3:2(C)19:13 (D) 15:11

22, What is the total number of people using
mobile service Y in the years 2008 and 2009
together ?




Model Practice Set -2

Y 2008 Td 2009 BT FHATHER, v TAAR AT BT ITANT

FRA dTed F[ AN B weE fha 7 ?

(A) 35,000 (B) 30,000 (C) 45,000 (D) 40,000
Directions : In question nos. 23-2B, Given here a multiple bar diagram of the scores
of four players in two innings. Study the diagram and answer the questions.

Il IR Raenfsal o) a1 wiRAT & WR &7 98 IR—UTH fear
T B | ARG BT NI HY 3R T BT IR < |
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23. The average run of two innings of the player who

scored highest in average is:
<1 aRal § Iedaw 3T TR U e arel Ractrel o i < 8-

(a) 75 (b) 85 (c) 80 (d) 70
24.The average run in two innings of the player who
has scored minimum at the second innings is:
a@ﬁ%mﬁﬁmﬁzﬁqwﬁ?waﬂﬁwmzﬁﬁwﬁﬁémﬁ
?T{ —
(a) 50 (b) 60 (c) 40 (d) 30
25.The average score in second innings contributed by
the four players is:
T U A AR} gt BT i R © —
(a) 30 (b) 60 (c) 40 (d) 50
26.The total scores in the first innings contributed by
the four players is:
gl TR H AR Raenfedl gRT Ade: a9 T A TR 8-
(a) 220 (b) 200
(c) 210 (d) 190
Directions (27-31) : Study the following graphs carefully and answer the questions
given below:
Value of imports and exports by a company over the

years Value of imports (in Rs. crore)
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27. The value of export in 1996 was what percentage of
the average value of imports in the years, 1994,
1995 and 1997 ?

Y 1996 ¥ fafa, |7 1994,1995 TT 1996 # IMATT BT
AT ufcrera @i o 2
(1) 200 (2) 100 (3) 300 (4) None of these

28. The value of exports in 1994 was exactly what
percentage of the value of imports in the same
years ?

| 1994 # frafa S o 7 e &1 uftrera @ o ?
(1) 125 (2) 160 (3) 200 (4) None of these
9. What was the approximate difference between the
value of average exports and the value of average
imports of the given years ?
i frafa qem omama # & T gt H AT R/ IR o ?
(1) Rs. 85cr (2) Rs. 100 cr
(3) Rs. 75 cr (4) Rs. 90 cr
30. In which of the following years was the difference
between the value of exports and the value of
imports exactly Rs. 100 crore ?
1 4 9 e ad 3 ffa e emnd & o<k 100 TR oA ?
(1) 1993  (2) 1996 (3) 1995 (4) 1997
31. What was the percentage increase in the value of
exports from 1995 to 1996 ?
| 1995 | 1996 H fafa &1 wfdera @w o ?
(1) 150 (2) 100 (375  (4)50
Directions (32-36) : The graph shows the Exports and Imports in 2005 of
country 'X' in S million for the period March 2005 to September 2005.
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32. What is the average value of imports between

March and September, 2005 ?
¥ 2005 # AE W RIdaR dH U BT AT MR foer=m o ?

IR 1 B

(1) 2810.6 (2) 2315.9 (3) 2980.8 (4) 3150.3 (5) None of
these
33. What is the average value of exports between April

and August, 2005 ?
¥ 2005 H A H SR Tb HUAT BT Arad are fare=m o ?

(1) 2694.3 (2) 3106.8 (3) 2695.6
(4) 3107.4 (5) None of these
34. What is the percentage increase in imports

between April and May, 2005 ?
¥ 2005 # 3 | WE db S AT H yfrerd gif w®@m o ?

(1) 5.80 (2) 6.30(3) 8.04 (4) 7.60 (5) None of these
35. The change in Trade GAP [Import as a percentage of
Export] between July and August, 2005 was
approximately : -
Y 2005 ¥ JeNE W I TF HUA & AR H R Fafq @ g
AT ST {1 geelra gaim ?
(1) Increase, 3.55 percent gfg 3.55 ufw
(2) Decrease, 3.55 percent &+ 3.55 ufter
(3) Increase, 2.87 percent gfg 2.87 ufrera
(4) Decrease, 2.34 percent # 2.34 ufea
(5) None of these 779 ¥ ¢ &l

36. What is the difference in exports between the
periods March to May and June to August (in $
million) ?

FUN S A F A T G W G 9P B Fo
B 3R w2 ($ Mo #H)

(1) 418 (2) 592(3) 179 (4) 585 (5) None of these



